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Candidates are required to give their answers in

1. Answer any ten questions:

their own words as far as practicable.

2x10=20

@I TS 2eas Ted 7 ¢

a)

b)

d)

When can we say that an allocation is efficient?
@Ie allocation 32 efficient B iy 532
Give two examples of Hedonic pricing method
for valuing environmental assets.
Environmental assets &< 3[eTIA(<< &« Hedonic
pricing *I&e3 {6 Swizgel vie |

What is the concept of Equimarginal Principle?
Equimarginal Principle 357c® & (Jaiz 2

What is meant by non-market valuation under
risk?

qffsiel #ifafzfote non-market valuation &ierg =g
fae
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What is the difference between Ecological
Economics and Environmental Economics?
Ecological Economics @3t Environmental

Economics-9 Sc&y ANy 2

Name two factors that may cause market failure.

Market failure-3 90 179 (#14 |

What are the main objectives of COP26?
COP26-3 & Sraeyafer (=12l |

Describe two important characteristics of public

goods.
Public goods-7 7fb wwFesd @R Ka=el wie |

Mention two impacts of climate change.

&y AR =a Ul 2o TEd 74|

What is 'green' GNP?
'Green' GNP J&10s 5 @R ?

What is net zero strategy?

Net zero strategy &2

What do you mean by the travel cost method of

environmental valuation?

Travel cost method of environmental valuation
&S 5 @R 2

When can we say that externality exists?
I AffEfoTs Tl @e 7t @ externality [y 2
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n) What is meant by transaction costs? e) Briefly explain the hedonic pricing approach. 5

Transaction costs J&1C® & (IR 2 Hedonic pricing «iRe{bx 7@re Kzl wis |
o) Explain the notion of Willingness to Accept. f)  What do you mean by transboundary pollution
Willingness to Accept 4FelTa i<l wia | problem? How does transboundary pollution
(7
2. Answer any four questions: 5x4=20 travel’ 23
.- SIS 72l ST FETcs 6 @It 2 Sigesiisiel 73l
@I BIRTS dree Tea i ¢ - RoTE G ?

a)  Write a brief note on air pollution. . . .
g) Does international trade compel countries to

TR TAGE A 1| lower environmental standards?Justify your
b) Explain the problems of Global Warming. answer. 5
G PR (w1 TPiefer i 49| Eeifes Alfdey & [Kfen el sifaere se
c) Describe the first and second theorem of Welfare TS Weg A 2 o Teraa oI Yfe wie |
Economics. Discuss the fundamental 3. Answer any two questions: 10x2=20
prerequisites for these two theorems to hold true. - PICeT f 2cs Tee Wl ¢

Welfare Economics-3 223 @2 faer ©o«imfs
S| 59 | 15 SAZNWI Toye] MRE S-SR
iIGERNGITIESE

a) Assuming the situation of multiple polluters and

multiple victims, demonstrate that —

i)  Pigouvian fee is not any emission fee, rather

d) Distinguish between emission fees and quantity it is to be defined as the marginal savings

regulation. Under what circumstances the latter from pollution at the optimal level of

would be a better policy instrument? 3+2 .

pollution and
Emission fees 4<% Quantity regulation-= STcy i1)  all firms will control pollution at the same
QIR (F/RI | @I »fafRfore Tifvers s (A faor level of marginal costs. 10
@ SR 2

G (6 AR T3] ! @A 79l R
TR QI TR G(eT) T2l ejq 28 (& |
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i offafEfere @are @ —

Pigouvian fee ST (@ (FI1¢ emission fee
R =R Afb e ey e fefifae
v FLE i e |

g8 @Ale @, @3 SfFFfore wFa TeoAive
STl efeTarR AT 139l foargel 963 |

Imagine you are preparing for your
examination but your neighbour is playing
the songs by BTS very loudly which is
obviously bothering you. Further assume that
you are ready to offer Rs. 200/- to your
neighbour because this examination is really
important for you. What would Coase
consider as a transaction cost under this
situation? 1
Tl 9 ofvl A9 el e @3k @R T
(SIS 2otz Thvalltsl BTS-F10SR 51 etz |
(A (ST AT, (@R 3 AT 393 wwgel,
CTRY O 51 IR &) (olNE afora i
200 B Tucs Fifer | widqifolm @Rre &
93 +f9f2feTe transaction cost I&Ce S
(I 2

State the Coase Theorem. 2
Coase Theorem(® G101 |
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c)

d)

i11) Why does Coase argue that the pattern in
which property rights are distributed may not
matter for efficiency as long as there are no
transaction costs? Demonstrate using a
suitable example. 7
(F (P N S (@ transaction costs =l
e, efficiency fdiacaa g sifex
SIS T 4 AR 72 2 TRl
1T P |

As India grows, its water bodies are getting toxic.
What should be done to control water pollution?
Briefly explain the ‘Common-Perring’ model of
4+6=10
CROR S s 2AIi#{ SreTvel (A2 bR |
TR efSTRIER i) 96 11 2 sustainable SRS
#t ‘Common- Perring’ ST ALCH(! 717 341 |

sustainable development.

What are the differences between direct and
indirect methods of environmental valuation?
Write a brief note on contingent valuation method.

4+6=10
AT R AOFFF R 2IC1F “Aafosier ey
Al & 52

Contingent valuation #%fe AR < 7FFe Gl
=14
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